Precalculus
Lesson 7.3: Trigonometric Equations

Mrs. Snow, Instructor
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We have studied trigonometric graphs and expressions. The next skill we need to learn is how
to solve trigonometric equations.

Determine whether or not 8 is a solution . Solve for 4.
for the equation below. . Give a general formula for all the solutions.
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We can solve linear trigonometric equations:
2sin6+v3=0, 0<6<2n

Use oisebm«‘.c Prind\‘)\fr 1o 1 solake 6« UOd‘k.e}coL(

-l-urvwslmm +v-lsjrps=okn: fer ©. 2 A
S NS e *—r\ CS??
a6 =-N3 ./9:’;&,*-'-! s ( g
B0l -2 " e BT A DU
e LA~ = = y 2 /. r\-Q. W
= :

of Lt amele e

0 2T Terual |l 0264 21

w4 ] O e cir
Solve: uvg’ %‘V\ES’. Solve: S mbv"/p‘ﬁ;_‘(
sin(26) =7, 0<6<2r an(9-7)=1, 0<@<2r Shyt
FUS: w=2 .. heriz. comp: N 48~ Cy = 2
O Ask wWhare smeB =% 7
RGM*’WVH{J#( %a)‘ l(n/y\xe/)\i’
8‘;\(53:2) O“%)J__;: pw‘ocl \S M’E"‘T{
o= T
T | I
So- bereral G CB"Q T "L-r\,(’r.’, 7 55
N Aok - e = \
O o =T 1172 — A
2 \ © & = 7 -\-4;
coegeRn) | AT .
( iy - B y 'H"—Q o
| / \ =0 = 2
OA1)20+51 g3
:,(_Z_L_:Q-FZI ")z K=\ @ =237 T4 __’f:r
(0 =57 o a4 T 44
gl af |
T i) U=2 6 = 37 +(0) out
/ ' 9 {
G Novs fued alt & T Y O+ wkevval
Fadeyvak  0€0 4N 0? 37 17
k=06 =L 4y 4
g-1T <7
12y |2
157
e T o/ Y _ =
b=l 76 =T ¢ 'L/ﬁ.\"" f
AL ki
PRy S
11\1‘(2? A/c):@a}a{“m}-waﬁ-

& = o sT 37 flﬂ'



Solving a trigonometric quadratic equation
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Graphing utilities are always nice.... solve,
rounding to two decimal places. ,:/
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